

As Greek as ít gets!

GREEK TRADITIONAL DIPS & SPREADS

HISTORY OF ALPHA GEFSI

Alpha Gefsi is a family-owned business, which is established in 1998, at the Northern Greece under Mount Olympus. It is specialised in the production of Traditional Greek Dips and Spreads out of the finest local supplies. The goal is to make extremely tasty Mediterranean delicacies that represent the (ancient) Greek gastronomy at its best.

Greece has been known around the world from its lovely variety of foods, such as Feta Cheese P.D.O., Greek Yoghurt, Extra Virgin Olive Oil, etc. Alpha Gefsi has actually developed more than 30 exclusive recipes, based on these amazing goods.

Tzatziki, Hummus, Spicy Cheese Dip with Feta P.D.O., Spreads with Greek Yoghurt and Sun- dried Tomato, are just a few Dips of our wonderful range.

They can be combined perfectly with all kinds of meals and appetisers, but casually they are served by a breadstick or a piece of pita bread to dip in and enjoy a yummy quick snack!

"Gefsi" stands for "Taste". Alpha Gefsi distinguishes itself from the competition, by its superior tasting. We honor the Greek tradition and at the same time, meet the new eating trends of the market. We make use of a selection of high-end ingredients, that are individually tested before they are blended; offering a unique taste!

Demand of spreadable products has been increasing nowadays and Alpha Gefsi under its brand is already supplying massively the largest Super Market chains across Greece and other countries.

Establishing its brand at all major food shows around the world (such as Anuga, Sial Paris, PLMA etc.), and extending the product shelf-life up to 6 months, allowed Alpha Gefsi to expand to EU, N.America, Asia and Oceania.

The production unit works in compliance of international organisations, assuring quality and safety of its products, by BRC, IFS & ISO22000.

TZATZIKI

Tzatziki, the most iconic dip of Greece! It's a traditional Greek delicacy made of authentic Greek Yoghurt. Home-made recipe that offers a cool and refreshing flavour, appreciated by all people who love Mediterranean food!

Main Ingredients

- Greek Yoghurt
- Extra Virgin
 Olive Oil
- Fresh Julienne Cucumber
- Fresh Garlic



CREAM CHEESE with Feta and Greek Yoghurt Spread

An innovative product that goes "as Greek as it gets". Its high concentration of Feta Cheese P.D.O. and plain Greek Yoghurt makes all the difference. You can spread it on a piece of pita, stuffit within any kind of meat or if your "ego" stands in the way, you can

just use a spoon and enjoy it straight from the pack by your self.

Main Ingredients ✓ Feta Cheese P.D.O. ✓ Greek Yoghurt



SPICY CHEESE DIP with Feta and Roasted Red Peppers

Trust us when we say that you will love this "dip-ly". You haven't tasted anything like it before, it's an exclusive recipe with tremendous taste and spicy aftertaste. Crumbles of Feta cheese blended with a variety of sweet and spicy peppers, brings an ultimate tasting experience. Enjoy it by dipping a sesame breadstick with your friends and family.

Main Ingredients

- ✓ Feta Cheese P.D.O.
- ✓ Roasted Red Peppers
- Spicy Green Peppers



SPICY CHEESE DIP with Feta

It is also known as "Tyrokafteri", because it's the most popular Feta Dip in Greece! Mild spicy Green Peppers with enjoyable crumbles of Feta Cheese P.D.O. deliver an incredible texture and taste. Commonly served as a starter in a Greek meal or in a sandwich!

Main Ingredients

Feta Cheese P.D.O.Spicy Green Peppers



TARAMOSALATA

A special appetiser that accompanies perfectly all kinds of fish meals. It is a Lenten delicacy, distinguished by its unique taste and colour! Extra Virgin Olive Oil adds up to the great taste of the Cod Roe.

Main Ingredients

- ✓ Cod Roe
 ✓ Extra Virgin Olive Oil
- Mashed Potatoes

ST. ST. BANK

Lemon Juice

TRADITIONAL AUBERGINE DIP

Nobody can beat grandmother's recipe when it comes to traditional Greek dips. Delightful taste and totally healthy! Ingredients combined harmonically, resulting to a smoky Eggplant Dip.

Ideal premium snack for all vegetarians and vegans. We can proudly say this is the real deal!

Main ingredients

- Grilled Eggplant
- Roasted Red Peppers
- Extra Virgin Olive Oil
- ✓ Fresh Garlic

AUBERGINE DIP

The blend of highly nutritious Grilled Eggplant and our Home-made Fresh Mayonnaise, promise a very satisfying, sweet and Garlicy feeling! The fact that it's been fresh-only raw materials is not just a statement, it reflects on the outcome too.

Main ingredients

- Grilled Eggplant
- Home-made Fresh Mayonnaise
- Fresh Garlic





BERGINE DI



HUMMUS

A classic tasty dip based mainly on mashed Chickpeas and Tahini. It is considered very healthy and light, providing a great deal of proteins, iron, phosphorus and selenium. Lemon

juice drops offer a very pleasant tasting experience.

Main ingredients

- Mashed Chickpeas
- 🗸 Tahini
- Lemon juice
- ✓ Fresh Garlic





HUMMUS with Grilled Eggplant and Roasted Red Peppers

A unique Vegan Hummus variant produced exclusively by Alpha Gefsi! A plant-based dip with outstanding taste, derived from Grilled Eggplant and Sweet Roasted Red Peppers. An amazing Hummus enriched with a number of highly nutritious ingredients to by enjoyed by everybody.

Main ingredients

- ✓ Grilled Eggplant
- Roasted Red Peppers
- Mashed Chickpeas
- ✓ Tahini





Greek Yoghurt Spread with Feta & Sun-dried Tomato

Another exceptional new-entry! It's a spread based on Greek Yoghurt, containing actual Feta Cheese Chunks and Sun-dried Tomatoes! It offers a different chewing experience, which is not really common at this product category.

Main Ingredients

- Greek YoghurtFeta Cheese P.D.O.
- ✓ Sun-dried tomato
- Extra Virgin Olive Oil



Logistics

Net Weight per piece (g)	Selling unit	Pieces per box	Boxes per palette	Pieces per palette	Boxes per layer	Layers per palette	Piece dimensions (mm)	Box dimensions (cm)	Gross Weight of the Box (Kg)
150	Box	32	96	3072	8	12	140x100x25	40X29X14	5,80
200	Box	32	96	3072	8	12	140x100x35	40X29X14	7,60
200	Box	16	192	3072	14	12	140x100x35	28X20X14	3,90
200	Display Box	6	480	2880	48	10	140x100x35	20X10X14	1,40
250	Box	12	192	2304	14	12	140x100x45	28X20X14	3,50
250	Box	24	96	2304	8	12	140x100x45	40X29X14	7,00
450	Box	8	192	1536	14	12	140x100x60	28X20X14	3,90
450	Box	16	96	1536	8	12	140x100x60	40X29X15	8,00
1 Kg	Box	12	56	672	8	7	190x125x75	38X26X23	13,3
2 Kg	Box	6	56	336	8	7	290x165x70	34X30X22	13,3
3 Kg	Box	4	56	224	8	7	290x165x105	34X30X21	13,3

(European palette configuration)

Retail 200g





Horeca 2Kg



ALPHA GEFSI EDESMATA S.A.

SVORONOS PIERIAS, KATERINI P.C.: 60100 GREECE

e-mail: exports@alphagefsi.gr, giorgos@alphagefsi.gr TEL: +30 23510 38511 • Website: www.alphagefsi.gr